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L Which of the following pairs is

3-B

Correctly matched?

Nobel Prize winner  Area of
(2022) Prize

[A] Svante paabo — Physics

(B] Alain Aspect — Chemistry

[C] Morten Meldal — Economic
Sciences

[D] Annie Ernaux — Literature

+ In which of the following cities was

the Global Buddhist Summit held
on 20th April, 2023?

[A] Delhi

[B] Kathmandu
[C] Kuala Lumpur
(D] Jakarta

Which of the following countries
has awarded the highest civilian
award ‘The Grand Order of the
Chain of Yellow Star’ to the
President of India during her visit
in 2023?

[A] Egypt . .
[B] Malaysia
[C] Indonesia
[D] Surinam

Who is. the author.of the book The
Coalition Years? .

[A] Shashi Tharoor--. .- ...

[B] Pranab Mukﬁéqee '

......

[C] Ravi Mathur
[D] M. M. Singh

1. fefifes ol § 8 FR-T1 78 gify

27

T QR WAl JERR Wy
(2022) a=

[A] @7 qra —  Wifee T

[B] ToH 3R — WA fagm
[C] B%F degen  — i g
D) W wivg — @™

2. P9 @ s s d 20 a9, 2023 %)

i AT g R v lem ooy
g3 ;Y

JA] feweht

[B] HiaHTg
[C] Faren TgT
[D] wiepTal

. T=fafea o @ foem o & g, 2023 8

WIAT Teafa &l 34 91 6 a0 % e
q9d 3= s §OTH € i AT Afw
T 99 A% I =R @ g T
qre

(A] T

[B] Heifdwm
(e ESE D
[D] g™

. The Coalition Years J&ish ¥ TEGF B

134

[A] ofF o=
[B] oK Faft
(ORGRL
[D] W, W, f&7
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5. With reference to the North
Atlantic Treaty Organization
(NATO), which of the following
statements is/are correct?

I. It has 42 member nations.

II. Its Headquarters is located at
Brussels.

Select the correct answer from the
options given below :

[A] Only 1

[B] Only I

[C] Both I and II
[D] Neither I nor II

6. With reference to G20 (Group of 20),

which of the following statements
is/are correet?
I. India took over the G20
presidency from Australia on
1st December, 2022.

II. The first G20 Summit was held
in Washington in 2008.

Select the correct answer usiﬁlg
the options given below :

[A] Only I

[B] Only II

[C] Both I and II
[D] Neither I nor II

7. Which of the following Articles of

the Constitution of India talks
about the Unifortn Civil Code (UCC)?

[A] Article 43
[B] Article 44
[C] Article 45
[D] Article 46

8. In 2023, which US State recently

3-B

declared holiday in public schools
on the festival of Diwali?

[A] Los Angeles
[B] Boston

[C] Jersey

[D] New York

5. <l owwife® W WS (NaTO) ¥
gof 3, Prfrfed ot 3 @ SR
wf 3/%?

[ 3@ @A § 42 T 95w §|

1. ! JEAEE FaTH U Iafem §
#3 few U fyeT 3 @ W@ I F
HiRr :

[A) Fa

[B] & II

(C] 17 LA

(D] @ 1RAF I

6. G20 ¥ e #, Ffafaa =i & §
F-T1/2 w8 B/8?
I 1TRawR, 2022 Hit Witd A A fran
[ 3ol TRl W 6t ot
. G20 %1 qgen et o 2008 #
aifipren & wvm g3 w1
A2 e e fymeat 3 ] G IR w T
ﬁm:
[A] Haw
[B] ¥ 1T
[C] 1@ 11 3t
[D] AR 1IRITE 1
7. T SRYR H1 HH-a1 AT, FH
Tl wfedr (UCC) i T war 7
[A] 3T 43 |
[B] 38R 44
[C] ¥R 45
[D] 33T 46
8. 2023 ¥, §Yh T B & fpm U9
3 g & ° W el W garaeh % A
ST Y Ty 6 oft? '
[A] @8 Cafe
(B] ST&eA
[C] St
D] ZFh

[P.T.O:
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9.

10.

11.

12.

13.

3-B

Which of the following pairs is
correctly matched?
Name of Padma
Shri Recipients
[A] Shri Anand Kumar—
Science and Engineering
[B] Shri Moolchand Lodha —
Literature and Education
[C] Shri Janum Singh Soy —
Public Affairs
[D] Shri P. Kalyansundaram —
Social Work

Area of
Award

In which of the following States has
the world’s largest railway platform
been inaugurated?

[A] Karnataka

[B] Madhya Pradesh
[C] Rajasthan

[D] Delhi

Who was the Chief Guest for the
Republic Day in 2023?

[A] President of Afghanistan
|B] President of Egypt

[C] President of UAE

[D] President of Indonesia

The Indian Government has
launched a rescue operation in
Sudan to evacuate its stranded
citizens. This operation is known as

(A] Operation Devi Shakti
[B] Operation Ganga
{C] Operation Addis Ababa
[D] Operation Kaveri

Which architect has designed the
new building of the Indian
Parliament?

[A] Ravi Modi

(B] Bimal Roy

[C] Bimal Patel

[D] D. Radhakrishnan

10.

11.

12.

13.

Fefafes @ & @ FH-w1 7@ gfeg
27
ugAsht SRRt QUEHR & 8

A] ot I=E TR —
famm 3 i

(B] 4 Tera< w1 — wfg 7o fan

€] *t 9w fég Fa—arEafRs ame

(D] # flo HeAVHTH — FEINF

Prefrfa o @ frm e o fave & v

T3 W e 1 Igared fowar ma #2

[A] FRH

(B] 7 wew

[C) g™

[D] feeedt

e & @ *, wra & Morda femw 2023

# e afafy &7

[A] JEMREE % Tafy

(B} T & wgafy

[C] TEH 3R Jftud - wgafa

[D] seRfemr ¥ wgefa

IR § HH g ARA A % Frswgo

B RS TR g S A Hre

o ™ a1 3@ Sy = Aw O

(A] AR St il

[B] ATRIA 1M

[C] ITRyA few 7a™n

[D] SRR Fa

et FaE % T2 waT g arger 3
feamea e e

(A] T O

(B] fewa U

[C] fawa wew

[D] o TUTFH


Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle


14. Which of the following statements

15.

16.

3-B

is/are true about Coalition for
Disaster Resilient Infrastructyre
(CDRI)?

I. India is a member of CDRI.
II. It is a UN agency.

IL Its headquarters is locatedin
Paris.

IV. It was launched during G20
Summit, 2023,

Select the correct answer from the
options given below :

[A] Only I

(B] Only I and II

[C] Only I, III and IV
[D] 1, 1L, Il and IV

Agricultural drought is define

[A] uneven distribution of rainfall
over time and place

B} low soil moisture

[C} inadequate rainfall of 30 percent
or more in cropped areas

[D] the lack of water supply in
water storage reservoir which
can be compensated by normal
rainfall

Indian National Centre for Ocean
Information Services is located in
which of the following cities?

[A] Mumbai
(B] Delhi
[C] Kolkata

[D] Hyderabad

14.

15.

16.

fr=ifea 3 @ amegr st ghand @
¥ fu meevd (CDRI) % a1 § #A-w

o wht 2/87
[. W@ CDRI %1 #GH 2
II. 7§ TF UN TiEl 2
111, a1 qEATe A § arafer R
v, s YEAE G20 &fe, 2023 #
T

2 R o faFed # @ w W H TH
$ife :

[A] ¥ I

[B] Faet [ 3 11

(C] ¥ 1, 111 3R IV
(D] 1, IL, 111 9T IV

o g 7 wfonfie faen e 2

(A] THEETY & @A F gewm J auf
1 fawm faamm

(B] et ger g

[C] 30 yfowa am 35@ IIfs gty aut
F Guel! 8% ¥ @

[D] Il §UR WSR # wremgfd oy
Ft g f98 qurr vt | U fem
£k

Prfafiga o @ frw e & wrdl TdlE
TEERR gE1 a1 & | 27

[A] g
[B] faeeht
[C] eI
[D] g<T=T]

[P.T.O.
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17, Which of

the following stat
are correct ; ements
Lake? regarding Yaya Tso

L 1t is located in Ladakh.
II. Itis Ladakh’s first heritage site

under the Biological Diversity
Act.

L. 1t is also known as bird’s
paradise.

IV. 1t is fed by Sutlej river.

Selgct the correct answer from the
options given below :

[A] T and II only
[B] 1, Il and IV only
[C] 1, IT and Il only
(D] L, 1L, 11l and IV

18. The Lakdawala Committee (1993)

is related to

fA] income inequality

[B] poverty estimation

[C) inter-State relation

(D] biodiversity conservation

19. The Universal Declaration of

Human Rights, adopted by UN
General Assembly, does not include
which of the following?

[A] Dignity, Liberty and Equality

[B] Right to Life

[C] Freedom of Adequate Standard
of Living

[D] Right to Universal Basic Income

20. Which of the following is not

3-B

considered a subsidy box for
agriculture in WTO?

[A] Green box subsidy
(B] Amber box subsidy
[C] Red box subsidy

[D] White box subsidy

17, wahsﬁa%ﬁaﬁﬁﬁmfi%;\q_ﬁ

18,

19.

20.

I wR 27
1. 9% Tere ¥ fRm Ry

1. 7R e ffewm sftfan ¥ wa e
%1 yom fatgg w=m R

1. ¥& IR 1w o waram
IV. ¥ Fao 78 & g fifya 3

98 fer mu fawedl ®# @ W@ I W 9w
E31

[A] $991 1@ 1T

[B) %a I, 1 W 3R IV
[C] ¥aeT 1, 1T 11T
(D] I, I, I @& IV

wwgETe gy (1993) Fafm 2
(A] 3 Rmar 3

[B] ™ e |

[C] =y @y &/

[D] Jafafud agm @

HYH TP FEEWT G ATATE T A
SRR} & graifies o § Frafafed
H § FH-T1 wive T }?

[A] @9, @aAdl T JAMED

[B] faa &1 sAfarR

(C] 39gw faa AR &R H war
(D] ST e T H HTER
WTO % 3o, i ¥4 S-a
siem + &9 ¥ fomm @ e s 22
[A] ¥ ST I

[B] T= Fiaw ITEH

[C] & = e

[D] =152 FiHE FIH
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21, Which of the following statements
is/are true for alluvial sojlp

I. Its sand content decreases
from west to east.

II. They are in the form of
Bhangar and Khadar.

HI. This soil covers about 40 percent
of the total area of the country,

IV. This soil is rich in potash and
poor in phosphorus.

Select the correct answer from the
options given below :

[A] I only

[B] I ang If only
[C] I, II and III only
[D] 1, II, IIT and IV

22. PM KUSUM Scheme is related to
[A] agricultural solar pump system
[B] electrical vehicle subsidy
[C] semi-conductor sector
[D] fertilizer sector

23. Labour force participation rate is
defined as the

[{A) ratio of unemployed population
to work force

[B] ratio of employed and willing to
work to working age population

[C] ratio of employed to
unemployed population

[D] ratio of work force to working
age population excluding
disguised unemployment

24. World Social Security Report is
released by which of the following?

[A] World Bank
[B] UN Women Commission

[C] ILO
[D] UN Human Rights Commission

3-B

21. wetg B ¥ @i #, Pefafea & @
FA-a1/A Fu7 T /27
1. g W & 5 9 8 O 6
wedl 81
I ¥ R T I = H g R
I A7 39 % e &R H 40 fowia
e 1 & s
1v. @ figh A g & A ks
e B a1 7
Y Re T fAyFeT § ¥ G I W X
i :
[A] ¥a I
[B] ¥ 1TH Il
(C] ¥9 I, 1T Il -
(D] L 11, I @@ IV

2. fium FW G FEad

(A] P T 4 e |
(B] fga a7e7 e ®
[C] ) =R 847 |
(D] I &7
23. weRs wewifal gt e w9 & aionfa

foam S B2
[A] |VFR SFEEH 5 9fa smofH =

S
B] Faifse @ faem & =g% =
FRAIA AT FTEE F 9y AT
[C] P G AU i e 7 I
[D] T84 T F BeH, FwAS
w A Sy 37 6 ven 1 I
24. favg s gean o, fifea 3 @
v gro ot B St B9
A} Readw
[B] UN #fget smaim
[C] ILO 561 nd

D] UN S s

[P.T.0.
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25.

26.

27.

28.

Which of the following statements
are correct regarding Kharai
camels?

I. It is a rare camel breed found
in Ladakh.

II. Their name is derived from the
local word ‘Khara’ meaning
saline.

IIl. They swim long distance in sea
to reach their grazing areas.

IV. They were anciently used in
the ‘Silk Route’ areas.

Select the correct answer from the

options given below :

[A] I and I only

(B] II and III only

[C] T and IV only

[D] I, 11, Il and IV

Which of the following statements

is/are correct regarding Gini

coefficient? -

I. It measures the level of income

inequality in the society.

II. Higher the Gini coefficient,
lower the inequality.

III. It can be derived using the
Lorenz curve.

Select the correct answer from the

options given below :

[A] I only

[B] I and [I only

[C] I and II only

[D] II and III only

Where is Dibru Saikhowa
Biosphere Reserve located?

[A] Arunachal Pradesh
[B] Assam

[C] Manipur

[D] Sikkim

Earth Overshoot Day is related to

[A] environmental degradation

[B] overheating of troposphere

[C] melting of glacier due to
intense sun rays

[D] geomagnetism

25. B A & FR-8 FoF, TR = F w6y
LR
1. 98 W@ A I A I G $
st 2
1. 3 W WA IR B Ras
el TR B ], § A R
1L 3o SIRPIE 9% 9§ o fae 3 o
3wt g 7 R 2
Iv. T o8 § 7 T s v
&3 # grar 4
F7 feu mu fawedl & @ @@ I T T
e
[A) a1 TF I
(B] =& I UF III
[C] ¥ [T IV
D] I, I, I @& IV
26. Tt % el § fafafea § @
N
. 98 G99 o 319 F IGHET % TR
! W9 R
1. Pl 1pores R arfrs g, sy
3aft = gt
1. 98 @R~ 9 & WM ¥ e fn
S 2l
R Ru Ty Meredi & ¥ v I FT T
Hifen -
[A] 9@ [
[B] %aa7 1 TF III
[C) ¥ 1T 11
[D] &S 11 TF 11
27. fog@am Sa 7w, P i3 =i fRm 37
(A)] FEUTEA TN
(B] 4R
] wfrg
(D] Tafderm
28, 3 ATy femw wefm R
[A] TATEW &ROr |
[B] QAR # IS TH B
(C] ;éfamwmﬁmqﬁﬁmﬂﬁmﬁ

(D) ~-TEFE A

3-
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29. At which of the following Indus
Valley sites was a terracotta replica

@ﬁqﬁﬁ@aﬁﬁmﬁmmﬁww,

30.

relating to exploration of a plough Eﬁﬁﬁf@ﬁﬂﬁﬁﬂ %(____ﬂl%ﬁlalﬁ Hiﬁ%iﬁﬁ?ﬂ?
discovered?
[A] "
[A] Dholavira
[B] Kalibangan (B] AT
[C] Rakhigarhi [C] TErTEl
[D] Banawali (D] CCIER)

In which district of Jharkhand is

TaTIITtTeR QU S, FREUS &
the neolithic archaeological site s : — e
Barudih located? firet 3 flor 27
[A] Hazaribagh [A] BSHIETT
[B] Simdega (B] ferd
[C] Jamtara
[C] STaTeT
[D] None of the above
,[D] 3 # & % T
31. Which one of the following
admm}stratlve _structures in 31. ﬁn%ﬁaaﬁﬁaﬁq—%ﬁgmﬁmém,
ascending order is correct? y —
STRIET 30 # Bt 27
[A] Dronamukha, Sthaniya,
Samgrahana, Karvatika (A] B, Ty, e, H-aifew
[B] Sthaniya, Karvatika, oI, -k 3y :
Dronamukha, Samgarhana [B] R ! " SR
[C] Sthaniya,  Dronamukha, [C] wE, Sy, w-afeh, g
Karvatika, Samgarhana ' )
' [D] ®rfi, v, dEvr, F-arfesH
[D] Sthaniya, Dronamukha,
Samgarhana, Karvatika
32. Tl T b ot
32. Prabhavati Gupta was the ruler of (] TS 6

3-B

[A] Gupta Dynasty
[B] Sunga Dynasty
[C] Vakataka Dynasty

[D] Maukhari Dynasty

(B] 1w Y
(C] aTehTEh a9
[D] Tt w1 Kt

[P.T.O.
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33.

34,

3S5.

36.

3-B

The Sangam text Tolkappiyam is a
work on

[A] astronomy

[B] grammar

(C] music

{D] medicine

Who was responsible for the smooth

functioning of the Mughal
Mansabdari system?

[A] Vakil

[B] Wazir

[C] Mir Bakshi

(D] Sadr

During the Mughal period, the
coins minted during the previous
reign were called

[A] Khajana

[B] Chalni

(C] Mohur

[D] Bikha

The capital of Vijaynagar Empire
was situated on the bank of which
river?

[A] Tungabhadra

[B] Narmada

(C] Godavari

[D] Bhima

10

33.

34.

3S.

36.

(A] @M fm W

[B]‘ S W

[C] @ffa W

(D} Tafemar w

T HATECRY ST & IR §A16 &
fore Y7 eerEt Fa wme

[A] T

[B] R

[C] oR waxft

(D] &g

T A & RHA, s IEea &
R @ T Ryt Y Fa ST o

[A] =T

(B] |t

[C] 5=

[D] fean

e amrew s o R A 5
e W fRuq oft? .

[A] g

[B] ia

[C] et

(D} ¥
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37. Which of the following is not

38.

39.

3-B

correctly matched?

Building Builder
(A] Lal Mahal — Balban
[B] Hindola Mahal— Hoshang
Shah
[C] Jahaz Mahal — Ghiyasuddin
Khilji

[D] Lal Darwaja — Bibi Raje
Mosque

Who among the following is not a
painter of Jahangir’s period? -

[A] Mansur

(B] Manohar

[C] Khwaja Abdus Samad
[D] Abul Hasan

Which Congress Session passed
the resolution of Fundamental
Rights in 19317

[A] Allahabad

[B] Karachi

[C] Mumbai

(D] Gaya

. Who among the following said “The

Ryotwari is a system wh’mh has
always prevailed in India™?

[A] John Shore
[B] Alexander Duff
[C] Captain Reed

[D] Thomas Munro

11

37. ﬁmﬁf@aﬁﬂﬂqﬂﬂgﬁ%ﬁ#ﬂ%?

39.

40.

TR Fatoresat
(A] O HRE  — SO
(B] e wewr — ERMAE
[C] T WEd  — Wﬁﬁqﬁmﬁ
(D] & qEmE — e
7iEesT
38, fre & F1 wEii & g & Femsr @
27
[A] TET
[B] FAI&
[C] S 3TegH HUG
[D] g &8
1931 3, #, wm ¥ feu afEwm
wiferss aaftarl 1 g fa 2N
[A] FETETETG
(B] ==
[c] g
[D] &I
frerferfaa # @ foraa e o1 WaEr 06
¥ e & S wwa # g | sl
w2
[A] S ¥
(B] IAFIE T

[C] HaF/H<A {8
[D] 4w G

[P.T.O.


Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle


41.

42.

43.

44,

With - which of the following
newspapers was Gandhiji not
associated?

[A] Young India
[B] Indian Mirror
[C] Harijan

(D] Indian Opinion

The Treaty of Amirtsar was
concluded between Maharaja Ranjit
Singh and

[A) Lord Cornwallis
[B] Lord Dalhousie
[C] Lord Hastings
[D] Lord Minto

Which of the following books has
not been written by Dr. Ambedkar?

(A] Thoughts on Pakistan
[B] Annihilation of Caste

[C] The Problem of Rupee : Its Origin
and Its Solution

[D] Servants of India

Consider the following statements ;

[. The latitudinal and longitudinal
extent of mainland India is
around -30°.

II. From Gujarat to Arunachal
Pradesh, there is a time lag of
two and half hours.

[II. The 82°30’E is the Standard
Meridian of India.

Time along the Standard
Meridian is taken as the
standard time for India..

Select the correct answer from the
options given below :

[A] I-True, I-False, Ill-False, IV-True
(B] I-True, U-False, IlI-True, IV-True
[C] IFTrue, I-True, II-True, [V-False
[D] I-False, II-True, IlI-False, IV-True

12

41.

42.

43.

44.

= o 9 fohg SAIR 9T @ TR
Heta 7@ A7

[A] Young India

(B] Indian Mirror

[C] Harijan

[D] Indian Opinion

FgaR H Fib g weta fag adk
____ % 9 9 &l

|A] @TE HHEAH

[B] @7E SSaN

[C] @ 3w

[D] &E faval

R 3 @ BF- T o R
TR T for g 27

[A] Thoughts on Pakistan

[B] Annihilation of Caste

(C] The Problem of Rupee : Its Origin
and Its Solution

[D] Servants of India

PR ag w AR R -

1. el YR @ e 3k cumata
R mm 30° R

. 0T § JE0TS Yo % 99 o
HUE 1 AT 2|

[II. 82°30" Yo WA I A TR @I
H

IV, A S 1@1 & 8§99 & 9d &
fotu s g 591 91 21

2 fer o fyweqi 8 8 v I W ==
$fe -

[A] -5, -39, -39, V-8
(B] 18w, 1I-319, I1I-8, V-8
[C} 1-9], 1I-99, -9, IV-36d
[D] I-3¥8, 1I-9, 11-3Ed, V8™
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45. Which of the following statements

46.

47.

3-B

are true?

I. The Tropic of Cancer divides
India into two halves.

1. The Tropic- of Cancer divides
Indian International boundary
into two halves.

[II. Maximum East-West €Xpansion

of India lies along the Tropic of
Cancer.

IV. Line joining the easternmost

and_ westernmost points of
India lies to the north of the
Tropic of Cancer.

Select the correct answer from the
options given below :

(A] Tand I

[B] Il and IV
[C] 11 and 1N
[D] 1 and IV

Which of the following Indian States
shares its boundary with Bangladesly,
and Myanmar? :

[A] Nagaland
[B] Tripura
{C] Mizoram

(D] Manipur

From north to south, Western
Ghats are locally known as

[A] Sahyadri-Nilgiri-Anaimalai-
Cardamom Hills

[B] Sahyadri-Anaimalai-Nilgiri-
Cardamom Hills

[C] Nilgiri-Sahyadri-Cardamom
Hills-Anaimalai

[D] Sahyadri-Nilgiri-Cardamom
Hills-Anaimalai

13

45. fi7 ) § $9-8 FUF /A 87

46.

47.

1. =% Y@ e 1 3 fedl A afean )
1. % 3T Rd % FAALNE A @

# & fedft # st 2

11l WRa 1 gd-gfeem & arflrean forer
= 1@ & FU-gY )

V. ¥ # ged @ IR qaq ofeh
fargatl #) e el W1 & @ &
R 1§ R 2l

Fra f2e mu faeedl # @ W I F 797

Hifdw :

(A] 13RI

[B] HI3MW IV

[C] 113 I

(D] 13K v

frafafea # @ #h-w T, TRy

it wiR % @ dur grEn war R

(] A

(B] Fgw

[c] frerm

[D] IR

IR & g, ofinh aret =) e dhw

AT AT &

[A] TR e sena

feem

[B] Sea—amers—fafid-sdun

T

[c} Frefrtweafe-wrém frem-

SRS
[D] Feafe-Fratrt-srémm feem-
HATHEATS

[P.T.O.
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48. Which .of the following rivers does

49,

50.

3-B

not drain into Arabian sea?
[A] Krishna

[B] Sabarmati

[C] Tapi

[D] Narmada

Mango showers are common
phenomena in which States of India?

[A] Uttar Pradesh and Madhya
Pradesh

[B] Madhya Pradesh and Kamataka
[C]) Uttar Pradesh and Tamil Nadu
[D] Kerala and Karnataka

Which of the following statements
are true?

I. Bajra is sown in hot and dry
climatic conditions of western
and central parts of India.

II. It is a hardy crop which can
resist frequent dry spells.

III. Being a rainfed crop, the yield
of this crop is low in Rajasthan.

IV. Rajasthan
production.

leads in its
Choose the correct answer from
the options given below :

[A] Tand II

(B] II and 111

[C] Il and IV

[D] I and IV

48.

49.

fFrafafes § @ FA-d & 3w TR §
8 et 22

[A] F=T
(B] G
[C] Tmdk
(D] Fefer

vy, Wi 3 o6 U W T v &y
[A] ST WA TH HEA TN

[B] WY W UH FARLH

[C] I wew W e

[D] ¥ wd FATTH

s50. fa=fafad 4 @ ¥-8 F+ &= 22

1. wRa & sfvaed) aftt vy st & o
IR I FEEg v § Fe AW
S R)

Il. I8 UF H3N BUA 2, I TN-IX &
5+ 2R | fve g 2l

Il SR FHSA B & HRol, TR &
T INEHAT B B

V. TORYH 6% 3eaieq o ameft R
Frafafaa faweal & 3wl ST
[A] 1311

[B] 113k m

[C] M3 v

D] 13 IV
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52.

53.

3-B

. The dryland farm;j

"increasing

_ ng in India ;
1argely confined togthe rr:edlii o
having annual rainfall of =

[A] less than 25 ¢m
[B] less than 50 cm
[C] less than 75cm

[D] less than 100 em

As per 2(?11 Census, inter-state
fem_ale migration by place of last
residence in India followed the
sequence of

[A] Rural to Urban-Urban to Rural-
Urban to Urban-Rural to Rural

[B] Urban to Rural-Urban to Urban-
Rural to Urban-Rural to Rural

[C] Rural to Rural-Rural to Urban—
Urban to Rural-Urban to Urban

[D] Urban to Urban-Rural to Urban-
Rural to Rural-Urban to Rural

On the basis of population size,
which of the following is the
order of wurban
agglomerations?

[A] Chennai-Bengaluru-
Ahmedabad-Hyderabad

[B] Bengaluru-Hyderabad- .
Ahmedabad-Chennai

[C] Ahmedabad-Hyderabad— ,
Bengaluru-Chennai

[D] Hyderabad-Chennai-Bengaluru-
Ahmedabad

15

51.

52.

53.

wia 3§ ek g i ST Rt qm
Hiftya 8, el arfifes asi

(A] 258H1.8 &0 &
(B] 50 & & & &
(Cc] 75 @M. A %0 &

(D] 100 & & %4 &

2011 SHAUAT 3 HFET, T | Afgenai
o I ya, 3rEt AEn
¥F IR =T a § @

[A] TifE & TELIE F NI Y -
g § g

[B] &t A Tie-3ET & Me-ia § M-
i & T

[C] e & TigTg & TE-ITE & M-
TE & AR

[D] ¥R & W F wEIT § M-
Y& A T

SHEET ITHR H FYR W A § )
HH-H1 TE0 THe w1 AR 9 R ?

(A] SRS STEHETATE-RGTTE
[B] TE-ReTETE-STEReTEIE- e
[C] FTEHRTIG-REUaTE-STeE—a=s
[D] ReUeTe-=a-Srge-srawean

[P.T.O.
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4.

The ~Provision for Election

-Commission in Indian Constitution

56.

87.

3-B

Was inspired by which of the
following countries?

[A) Ireland
[B] United Kingdom (U.K.)
[C] United States of America (U.S.A.)

[D] None of the above

Under which Article of the Indian
Constitution, can the Rajya Sabha
authorize the Parliament to legislate
on a State subject by 2/3rd majority?

[A] Article 249
[B] Article 243
[C] Article 259
[D] Article 250

Which Article of the Indian
Constitution says that Directive
Principles of State Policy are not
enforceable by any court?

[A] Article 39
[B] Article 38
[C] Article 36
[D] Article 37

Under which Amendment Act was
the reservation in promotion for the
Scheduled Castes and Scheduled
Tribes ensured by inserting Clause
‘4A’ in Article 167

[A] 75th Amendment Act, 1994
[B] 76th Amendment Act, 1994
[C] 77th Amendment Act, 1995
(D] 108th Amendment Act, 2008

16

54. WRdE fdum § A SR H wEum,

55.

56.

57.

frferfaa # & fFe 20 3 9@ 87
[A] STETAUS

[B] RS fhTeH (U.K.)

[C] g U= JARFT (U.S.A)

(D] 30w & & HI5 T

T dfum ¥ R =88 F ety
qsaEw], §aE H 2/3 9gHd ¥ T &
freft fwa w7 T & fore afga
T gl 27

[A] 38T 249

[B] 303 243

[C] =BT 259

[D] 3F=8% 250

Wit Sfer o for ar=aR B a8 secifiaa
? o v & Hify figys ol =t T ot
AR G A A R 1 el 7

o gy sfafam & siata, sres]
16T 4A e+t g i 3 s
Seenfa % fere ugafy d smer giifead
oo T ?

(A] 7saf @y affREm, 1994
[B] 76al Tumyq fafvEm, 1994
[C] 7791 amuA fFAET, 1995
[D] 10847 GeeR safafEw, 2008
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58-

59.

60.

&-B

Which of the following sta

t
are true about Telecom Reg:;;ims
Authority of India (TRAJ)? g

[. It was first establisheq in 1997
II. Itis a statutory body.

[Il. 1t was established tg .
e
telec_:orn services, jnclgudl;te
fixation /revising tariffs. o

V. Its headquarters is loc i
e e ated in

Select the correct answer -
[A] Only I, HI and IV

[B] Only I, II and III

[C] Only II and II1

[D] All of the above

Which of the following Committees
were appointed to inquire into the
working of Panchayati Raj
Institution in India?

[. L. M. Singhvi Committee
II. G. V. K. Rao Committee
III. Ashok Mehta Committee
IV. Balwant Rai Mehta Committee
Select the correct answer :
[A] Only I, II and III
[B] Only III and IV
[C] Only II, III and IV
[D] All of the above

Which date is observed as the Good
Governance Day in India?

[A] 14th November
[B] 25th December
[C}] 2nd October
[D] 1st May

17

58.

59.

60.

Rsafergm & - T, T 5 SR
e S (TRAI) %'ﬂﬁﬁﬂﬂ%?

| g gevem 1997 § €Y g3 o)

11 78 T duifs wen 2l

(1, et e o R/ ae wi
mwﬁﬁ'ﬁﬁﬂﬁaﬁ%
R 1 d ot

IV, gae! qEEE 498 § e 2

T I F1 957 HFATC :

[A] et 1, 111 3 IV

[B] %9 I, I 3 I

[C] Faw 11 3K 111

(D] 374w wf

yra ¥ qqEdt U € & HEHEN 6

gfe ¥ fa, f=fafea § & sH-d@1

aftfaat fige £ w8 ofi 7

I T W, fGudt wftfd

11. W o %o A G

1. 3 Agdr gif

V. 9 T e afafa

TR IT & 99T PR

[A] & 1, 11 3R 111

[B] ¥aa 111 3R IV

[C] %3« 11, I 3R IV

[D] g &t

wRa # g foflt & qumem feew & w0

¥ w22

[A] 14 FIwR

(B] 25 feamar

[C] 2 SR

[D} 1 %¥

[P.T.O.
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61.

62.

3-B

Which among the following is not
true about the Comptroller and
Auditor General of India?

I. The administrative expenses of
his office are subject to vote of
Parliament.

II. He is not eligible for further
office under the Government of

India or of any State after he
quits office.

Ill. The CAG can be removed from

office on the ground of proven
incapacity or misbehaviour
after an address by both the
houses of Parliament.

Select the correct answer :
[A] Only I

[B] Only II and I

[C] Only 11

[D] Only I and III

Reasonable restrictions on
‘Exercise of Freedom of Speech and
Expression’ under Article 19(2) are
justified in the interest of which of
the following conditions?

I. Security of State
II. Defamation
III. Sedition
IV. Public order
Select the correct answer :
[A] Only I and II
[B] Only II and III
[C] Only I, I and IV
[D] All of the above

18

61.

62.

Frefofen & @ F-a1/8 friss o
TETeRal qﬂ&m%aﬁﬁmaﬁ%/’g?

1. 3% e % worafie @ gee 3
T % i # |

Il 391 T &I Blgd & 1€ 98 g
WEHR 1 T & T 3177 1 e
UM % I 78 2

. 6 & 91 |edl | aFemar o
gelaRr wifia 2 % anuR W @
s @ weeE-vhes ) 3%
UE ¥ TR W AT 2|

TR I BT Hifvre -
[A] e I

[B] ae I 3R 11
[C] & II

[D] %eet 13 I

FTWE 19(2) & 3@, WU IR
Jrftrerfa & @ F @ W s
wiiey, Frafafes § @ 7 ohfafy
3faa sgTan o gear 27

I. TS i gean

II. WHEIH

L. TS5E

IV. g e
FE I H TG HIC
[A] ®ae 13RI

[B] %@ 11 3k 11
[C] %a& I, 113K v
(D] 3% Wit


Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle


3. Which Committee’g

64.

65.

66.

&R

the way for the
(Extension to Schedy
(PESA) 1996 for ensy

rule for people iiving in
Areas of Indigp

(A] Agricultura] sector
[B] Transport Sector
(C] Industria] Sector

[D] Poverty alleviation

Which Index is considered a5 the
basis for estimation of Poverty in
urban areas?

[A] Consumer P.rice Index of
Agricultural Labours

[B] Wholesale Price Index
[C] Stock Index

[D] Consumer Price Index of
Industrial Workers (CPI-IW)

India is the largest producer as
well as the largest consumer a.nd
Importer of which of the following
Crops?

[A] Wheat
[B] Cotton
[C] Pulses

[D] Sugarcane

19

63.

64.

65.

66.

e witrfer 2 fate 3 v o gl &t
ﬁ@ﬁﬁ*ﬁ%ﬁq‘t{@i@-m
T e % wef # demrE (i
&=l 7% fore) arfufrm (PESA) 1996,
& fore wnf s fran e

[A] 379 TEar giufa

[B] Sfto =fto oo Trar wfirfey

[C] wifwr afafy

[D] Serad T dgar qify

feear weranffer < 3, for @ 3 R
W Haifte we femm mn o7

[A] $ &=

[B] wiEeT &

[C] 3fehfis &

[D] Tt Sem

m%ﬁm%mwmﬁm
IR B HAT 1 7

[B] =g
[C] <wm&w
(D] T

[P.T.O,
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67.

68,

69,

70.

3-B

Which of the following is not a cash
crop?

[A] Jute
[B] Millet
[C] Sugarcane

[D] Peanut

Which indices are the basis for
determining sustainable
development?

[A] Ecology
[B] Social and cultural
[C] Economic

[D] All of the above

In which year was Sustainable
Development Conference held in
Johannesburg?

[A] 1997
[B] 2002
[C] 2003

[D] 2004

What is sustainable development?
[A] Economic developfncnt

[B] Environmental development
[C] Social development

[D] All of the above

20

67.

68.

69.

70.

foer & & W, b FEA T R?
(A]

[B] SER

[c] ™

{D] Hreft

e e 3 Pt 3, ot i )
YR ST ST B 7

[a] wifiRafaeht

(B] &I 3t wieplesp

[c] st

[D] 394 &t

et # we R qeiter g o
A gam e

[A] 1997

[B] 2002

[C] 2003

[D] 2004

Taq e @ 87
[A] s forepr
[B] wafawfa fawmm
[C] T faapma
[D] 3w &+ft
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71

72.

73.

, When did the term ‘g

Deviopment come g snabie
[A] 1980
(B] 1987
(C] 1992
(D] 1998

When was the process of €Conomiic
reforms started in Indig?

[A] 1990

[B] 1991

[C] 1993

[D] 1994

Match List—I with List—II and
select the correet answer using the
code given below :

List—I List—II

(a) Price discrimination (i) Ragnar Nurkse

(d)

(b) Land reform (ii) Bretton Woods
(¢) Vicious circle of (iii) Land monopoly
poverty
I.B.R.D. fiv) Land
consolidation
Code :
@ () ([ (@
] @) @ 6 @
B] @) @ () (@
1 @ @ 6 @
D] v @@ @ )

3-B

21

T1.

72.

73.

(@) T Tadg
(b) IW GuR
(c) TSt < gSIh

wﬁm,mﬁy{aﬁrﬁmm?
[A] 1980

(B] 1987

[C] 1992

[D] 1998

e 7 s gUR ) i 5 TE A
Y

[A] 1990

[B] 1991

[C] 1993

[D] 1994

1 1 g1 & gt A
fou gu e # & WG IR F T B

eI T

(i) TTR R

(i) e I

(iii) ¥ THITUFR

(d) 3o Mo 3o Fo (i) 1M THEL

%e :

@ (B () (@
AAl @) @) @) ()
B] @) ) @) ()
_[C] i) (i) i) (iv)
D] @) @) @) 6

[P.T.O.
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74.

75.

76.

T

78.

;Vha-t'-'do we call the distance
etween two consecutive
Compressions of a sound wave?

[A] Wave number
[B] Frequency
[C] Wavelength
[D] Amplitude

Which of the following is a cause
of echo?

[A] Absorption of sound
[B] Transmission of sound
[C] Reflection of sound

[D] Refraction of sound

Light year is a unit of
[A] distance

[B] time

[C] energy

[D] intensity of light

Which of the following cannot travel
in vacuum?

[A] Light
[B] Heat
[C] Sound

[D] Electromagnetic waves

- The process of superposition of any

information on radiowaves is
named as

[A] transmission
[B] modulation
[C] demodulation

[D] reception

22

74.

75.

76.

T7.

ey it % 3 HANE TS & g
T FHEd 87

[A] A9 T

(B] S

[C] e

[D] ™™

foe & whteafy s o T R Y
(A] T T FEET
(B] eaft 1 TR
[C] Ay 1 T
(D] & &1 JTad

yerTel o ghTE R

(A] g0

[B] & I

[C] St

[D] wehrst <ht i T

7 & 9w, Pk 3w = i
[A] SR

[B] ST

[C] i

[D] ferga grehr

78. sTesh (WeA) @il w et g=a *

ST < AfsHar &1 9 2
(A] zrafieE

[B] Hisserm

[C] fenteivm

[D] ==
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79. Angora wool ig

80.

81.

82,

3-B

which of the fouo‘f,;gg aa;tjm from
[A] Sheep e
[B] Goat

(C] Rabbit

[D] Fox

Which of the fo)

owi i
about RAM? Ng 1S not trye

(A] RAMisa temporary storage area
(B] RAM is like a hard disc storage
[C] RAM is volatile memory

(D] Information stored in RAM is

gone when the computer is
turned off

Using websites to pour out one’s
grievances is called

[A] Web plea

[B] Web hate

[C] Cyber ranting

[D] Cyber venting

Which part of Central Proce$¥tig

Unit (CPU) performs calculations
and makes decisions?

[A] Alternate Local Unit
(B] American Logic Unit
(C] Alternating Logic Unit

[D] Arithmetic Logic Unit

23

79. T3 | Rra fa | 30T 3 IH 6 T

80.

81.

82.

27

(A] ¥
[B] =d
[C] BTw
[D] =t

RAM ¥ ¥t & fey @ AR-w @ di 87
[A] RAM T srerdl wosT &3 3

[B] RAM U& hard disc storage #!
e 2

{C] RAM T arsaefier 2t R

(D] RAM ¥ wvef@ §aol, FIX &
AT T W I IA &

et A R | =% 760 & fag

JeEIES] 1 FANT FEAMT 2

(A] 39

[B] 39 ¥

SRUES

(D] Jrg=R 3fém

¥z I e (CPu) 1 wH-T 3,
UM AT ¢ qen giony <A 22

[A] Alternate Local Unit
[B] American Logic Unit
[C] Alternating Logic Unit
[D] Arithmetic Logic Unit

(P.T.O.
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83,

84,

85.

86.

87.

3-B

ICAR Day is celebrated on
[A] 23rd December

[B] 16th July

[C] 22nd April

[D] 23rd November

Ggobal Gene Bank of rice is situated
a

[A] Philippines

[B] Pusa, New Delhi
[C] Cuttack

[D] Hyderabad

Sugarcane is a

[A] short day plant

[B] long day plant

[C] day neutral plant

[D] photo insensitive plant

How many chromosomes are found
in the endosperm of maize?

[A] 20
[B] 30
[C] 40
[D] 23

Which of the following genomic
conditions is found in commercial

edible wheat?

[A] AB genome
[B] ABC genome
[C] ABCD genome
[D] ABD genome

24

83.

84,

85.

87.

TS0 Tflo T 3o TEaTE el BT S

[A] 23 feger

[B] 16 e

[C] 22 3

[D] 23 FawR

a1ae &1 A ST ¥ foda R
(A] Frefidig o

(B] e, 7 Reehl

[C] e H

[D] #eweg #

T 2

[A] %W EftrmTer &1 e

(B] 3ifers diftreprefi dten

(C] Jemefa Eftrprefi den
(D] Aftrepret & wia Serefia dren

weh o YIS 3 feha o I W #7
[A] 20

[B] 30

[C] 40

[D] 23

SEEE @n A i 4, fe A |
HiF-t Al fRufy o st 27
[A] AB S

[B] ABC S

[C] ABCD S/

[D] ABD sfiHH
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88.

90.

91.

3-B

Alkaline soils can be improved
(A] by the use of lime

[B] by the use of gypsum

[C] by the use of saline water

[D] None of the above

Which of the following signifies the
Lota Pahar?

[A] Centre of the Revolt of Tilka
Manjhi

[B] Centre of the Stone Age of
primitive people

[C] A major centre of the 1857
'~ Sepoy Struggle

[D] A major centre of the Kol
Uprising

Which elephant of the Chhota

Nagpur Raj has been mentioned in
Jahangirmama?

[A] Moti Chandra

[B] Sharat Chandra

[C] Nagpuri Pitho

[D] Shyam Chandra

Rohini, one of the major centres of
1857 uprisings, is located today in
which district?

[A] Godda

[B] Jamtara

[C]. Deoghar

[D] Dumka

25

88.

89,

90.

91,

et e 1 50 T

(A] - & W '

() o % ST &1

(c) @R A 3 A

(D) 3w 3 & P T

e & il TETS 1 T T
T 87

o) o it 35 e 1 37

(B] mwmmﬁaﬂ%—‘s{

(© 1857 35 T T 1 O T s
(D] Hret FgiE 1 9 FH
ey 3 Srermg T % R ar
1 Soera R T 27

[A] HIdt =5

(B] T %

[c] =mgd fast

D] wm =%

1857 I shif=rehrt ittt =1 wgw ¥
et sor o Pt i o 27

[A] g '

[B] ST

[C] G

[D] gHsht

| B.TO:
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92.

93.

94,

985.

96.

3-B

Who is the most important God of
the Santhal Tribe?

[A] Marang Buru
[B] Marang Manjhi
[C] Moreko Turiko
[D] Thakur Deo

In which town was the Rajkumari
Leper Asylum, 1895 established?

[A] Deoghar

[B] Ranchi

[C] Daltonganj

[D] Hazaribagh

By which term does the Hill Kharia

community refer to a body bigger
than the Panchayat?

[A] Parha
[B] Chira
[C] Para
[D] Bara Jutan

Who among the following was
considered as the head of the
village?

[A] Khuntkatti Raiyat

[B] Jeth Raiyat

[C] Asami

[D] Bhogta

‘Thendiri’ and ‘Bidadiri’ rituals are
related to

[A] Santhal matrimony

[B] Oraon birth ceremony

[C] Munda last rites

[D] Oraon last rites
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92.

93.

94,

95.

96.

TS T % T W@ a1 B #7
[A] T g

[B] WA wiE

[C] ! R

[D] 313 ¢F

TR F 313, 1895 foRE Wt &
iy fopam T 4r?

[A] SR

[B] Ut

[C] STeewa

[D] EST{rEmT

et wfea wor, ToRE @ 9 wE1 @
1 el B ? T
[A] 9C&T

[B] =t

[C] et

[D] =81 9eH

Frfeifea # @ 9, e % v9= ¥R 9
%7

[A] Gewet
[B] 93 W@
[C] smemh
[D] e

et wa frefely wwr I3 &
[A] Hue faame @

[B] g Fiee A

[C] He1 3w &

[D] 3 FAfEe &
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98.

99,

100,

3-B

railwaysp
[A] 1871 ;
[B] 1885
[C] 1904
[D] 1915
The famous pilgrim centre Parasnath

is in the closest Proximi i
of the following? T

[A] Isri

[B] Dumri
[C] Madhuban
[D] Kakolat

Which of the following pairs is not
correctly matched?

Day Date

[A] World
Environment
Day — Sth June

- [B] World Earth

Day — 22nd April

[C] World
Homeopathy
Day —12th March

[D] International
Day of Yoga — 21st June

Which of the following States has
launched the scheme ‘Learn and
Earn’ in 20237

[A] Uttar Pradesh
[B] Madhya Pradesh
[C] Rajasthan .

[D] Haryana. :
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97.

99,

100.

e 1 fope o YT & ST TR A7
[A] 1871
[B] 1885
[C] 1904

[D] 1915

. g defeeret iy, Feifd 5 & e

a8 TS 27
[A] vl

[B] g

[C] HY=

[D) i

Prferfgs # & He-w 7w, gl
T #?

e e
[A] fovm o fmw — 5.
(B] fwm gt form — 223w .

(C] e gl R —- 127
[D] sFdsfe am fesm — 215w
2023 3 o5 T 3 i o iy ke
I femam 27
[A] I e
(B] 7eA wew
[C] TR

[D] & -

[P
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